INTEGRATION 13. [ Jianx dx
(ADDITIONAL 6 MARKS SUMS FOR 20013-14)
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1. Evaluate [(x*+5x)dx as limit of sum. 14'I(X tan™ x)d
1

3
2. Evaluate [(2x* +5x)dx as limit of sum
1

Va

2
3. Show that j(Jtanx +Jcotx)dx =27
0

1
4. Evaluate I cot™(1— x + x*)dx.
0

5. Evaluate j(xz cot‘lx)dx

6. Evaluate j(x+3)\/3—4x—x2 dx
7. Evaluate _[(6x+5)\/6+x—x2 dx

J~ X2+4
x*+16

x?+1

20. J.x“+x2+1

dx

sec xtanx +sec? x
(sec x +tanx)"

dx Zl'I

2 sec?x

22.
-([ (sec x +tanx)"

1 .
9. IFSII’] tx dx
10. J‘Iog(x+«\/x2 +a?)dx

11. I[X—lztan‘lx]dx

3/2

12. j |x sinzx|dx
]

dx
23. | —
j «\/1+ sinx



10.

11.

12.

13.| Ans

14.

x4 x* x 1
15.| Ans: ——tan*x-—+=—-=tan*x +c
ANSWERS 4 12" 4 2 J
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Ans:——-log2
2 d ]
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Ans: X cottx + S x2 —llog|1+ x*|+c
3 6 6

Ans

-1 X +24/3-4x — x?
: + +C
J3-4x— X’ 2

ANS : —2(6 + X — x2)¥? +2(2x — D6 + X — x* + 25sin ™ 2X

1 X2 —4
Ans:—=tan™ +cC
242 [ 2/2x j ]
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Jx2 +a? +c)

X

-1 j
+C

x —J_x+1|
x +J_x+1|
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Ans : —sin™x +log
X

21.| Ans: i(secx tanx)"™* +c j
n+1

n®-1

22. [Ans d J23.(Ans:ﬁlogtan(§+%)+cJ

(Ans . xlog‘x X2 T+ a?|-

Ans: —

X
log
1+ x2

nt tanx — 1

] 1
' \/5 \/Ztanx

3
Ans: X—tan‘lx—lxz +1Iog(x2 +D+c
3 6 6




